Set No. 1 18U/102/20

g4

Total No. of Printed Pages : 48 Question Booklet No.

Roll No.

Roll No. (Write the digits in words) ...........

¢ To by filled up by Hie candidate by blie/black ball-poimt pen)

—_— - - -—-.-..I. L mrm—— = — | e —

b 3o Lo g

Serial No. of OMR Answer Sheet .............K......

Centre Code No. I__ |

| TSI SO

Dav anid Date...oiasims (Signature of Invigilator)

INSTRUCTIONS TO CANDIDATES

i Use only blue/black ball-puint pen in the space above and on both sides of the Answer Sheet)

1.

L")
i

11

Within 30 minutes of the issue of the Question Booklet, check the Question Booklet 10 ensure that i
contains all the pages in correct sequence and that no page/queslion is ml:f-sung,.In case of lault
Question Booklet bring it to the nolce of the Superintendent/ [nvigilators immediately o obtain a
resh Question Booklel,

1o not bring any [oose paper, Wi Tide the Examinmsn Hail except the Admit Card

A separate OMR Apnswer Sl
st Be preovaded. Only Hhe A

is given. g should not be

* ¢ 'ti:'ﬂﬂft’ef.

Write all entries by bluglfblack ball the space gfovided above.

On the front page
provided at the top
Number, Centre C
No v erwriling is a
(MR Answer Sheel

write bv pen your

owed in the entries
1d Roll No. and O\

waid entries is o

Amy change in the afi vigilator, otherwise il will be taken as

Lt laur means

verified by th

Lach yuestion in this BookMagjg [ollowed by
recand the correct oplion on the Ansity

alternative answers. For each questron, you an
: by darkening the appropriate circle in the corresponding, row
of the Answer Sheel, by pen as mentioned in the guidelines given on the first page ol the (NIR
\nsweer Sheet.

For vach question, darken only one circle on the OMR Answer Sheet. [f vou darken more than ane
aircle or darken a crrcle partially, the answer will be treated as mcorrect,

Note trat Hie answoer onee filled i ik eannot be changed. 10 vou do not wish to atlempt a question, leave
all the circles in the corresponding row blank (such question will be awarded zero mark).

bor rough work, use the inner back page of the litle cover and the blank page at the end ot his
Booklut

On completion of the Test, the candidate must handover the OMR Answer Sheet to the

Invigilator in the examination room/hall. TTowever, candidates are allowed to take away lest
Booklet and copy of OMR Answer Sheet with them.

Candidates are not permitted to leave the Examination Hall until the ¢ xd of the Test.
1:' a l,...'q'w;‘,';iidll.l‘ d”{'mpfﬁ t(} “.“l'l‘ d!‘l‘p Hlﬂn {"I llT"IL]H IR it s, ].ﬁl.'|I "‘-\hl,_" \-}1|]ll i‘li." “J.L"I{" !‘1| _1"1“__;:. I'.!”r“._‘l-’._-

the Lriversity may determine and impose on him/her.

(Fvdw Frder fedl 4 ofom sro-ge w g 79 4 0

g E w
|

collegedunia:

India’s largest Student Review Platform



FOR ROUGH WORK /X% &1 & fag

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



— 18U/102/20(Set-1)

No. of Questions : 200
YAl & T ¢ 200
Time : 2 Hours | [ Full Marks : 300
GHY : 2 g ; quifg - 300

Note: (i} Atterpt as many questions as vou can. E;mh question carries 3 (Three:
marks. One mark will be deducted for each incorrect answer. Zere mars
will be awarded for each unattempted question.

ARG U B ga GRS @ WS B I v 3 @) e o2 AE
Terd SOR @ forg U 3 HICT TR | Vil SN ugd ol UriE g S

(i) If more than one alternative answers seem to be approximate to the corree
answer, choose the closest one.

gfe trftd dofeus o a8 Wk & fde wihd & o Meed v Fr @
(iii) This paper comprises of Five Sections. Sections I and 11 are compurlsory

whereas only one Section out of IIL, TV and V is to be attempted.

UE W9H 43 grg @ve) &l & Wve [ vd 11 afAerd & was wug L IV 1V ¢

A bl vF & gwr 2w g

SECTION -1
gvue - |
(MENTAL AGILITY)
(Afe &)

1. A twe digit number is such that the product of the digits is 8. When 08  adecd
to the number, the digits are reversed. The number is

31 3 A wem v & 5 aet @ e 8 #1 W& 18 @ wen d oer e f
IF AT AT € | [ R

(1) 18 (2) 24 (3) 81 4) 42

2. A boy is asked to mulliply a certain number by 25. He multiplies it by 32 and
gets his answer more than the correct one by 324. The number to be multiplied
was:

Th e U va fAf¥gs g=m 25 9 U A B fou eer of/ar ) g2 o 52 & o
AT § TUT FEl TOX A 324 HOE AT A1 B | qON BT A Wiy o)

(1 12 (2) 15 (3) 25 (4) N

(3) BT A
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18U/102/20(Set-1) -

3.

AP
[he mean temperature of Mon av o Wednesdav was 37°C and that Tuesdas
o Thursday was 34°C. If the lemperature on Thursday was 4/5 that of
Monday, what was the temperature on Thursday ?
ATEN A QUER AT ST dYET 37°C o7 U FeaR R AR 1 FHT ATTH
MNP0 A e TR G AT UIAER & AT © 4/5 o, A7 {HAR @ ATTH

(13 34 (2) 35.5°C (3) 36°C (4) 36.5°C

A tank can be filled by one tap in 200 minutes and by another in 25 minutes.
Both the taps are kept open for 5 minules and then the second is turned off. In
how many minutes more the tank will be comploetely filled ?

T 2l BT Uh Hel gRT 20 MEE 1 91 Ua G 99 5T 25 fee § wa i g
£ B! el B S R T AT Y@ WiaT 8 SR Tw gER @1 a5 o fw i & |
LA it (el | ea @ ave W el ?

(1) 6 (2) 11 15 12 (1) 17

[he age of a father 10 vears ago was thrice the age of his son. Ten vears hence,

tae tather's age will be twice that of his son. The ratio of their present ages s ;

i

ar @ Mg 10 gy gEel §UE TH @l sy ¥ d e ol g gl & me

E S TF b A @ R @ SR | §9e g STy BT A €
(1) 5:2 {2y %2 (3) -3 (4 13:4
Four horses are tethered at 4 corners of a square field of side 70 meters so that
thev just cannal reach one another. The arca lett ungrazed by the horses is
(1)l sg.m (2) 3850 sq. m (3) Y30 sq.m (4) W75sq. m
SOETE] BT HET We O TR T w4 @ # TRl 9 g diE Gl
¢ Em 6 4 Th-ER U 1) WA G | T g Q9 5 T 9 &% @
(1) 105037 #o (2) 3850a0 Ao (3) 950 g7 fo (4) 1075 7% 4o
Vv 6, 1993 was Thursday. What day of the week was on May 5, 19922
(1) Saturday (2) Tuesday (3) Wednesday (4) Friday
6 S (Y9N TET TTEAR 2 5 S, 1992 B GWe @1 @id-ar @9 o1 7
SERRR0)S (2) AR (3) TAR (4) FHar

(4)

l g
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10.

11.

12,

18U/102/20(Set-1)

in the following number count each 7 which is nol immediately preceded by o
1 : : st . ¥
but is immediately followed by either 2 or 3 2 How many suq h 7's are ther.

57265738373257273482678
(1) one (2) two (3) three (4) four

fry v § O 7 @) O U O 5 B Al Ugel el Al & e 2 W 3 b
& ag F B 0 fpaw 78 7

57265738373257273482678
(1) T® (2) @ (3) A9 (4) aRr

Milind goes 30 meters towards North then turns right and walks 40 melers,
then again turns right and walks 20 meters, then again turns right and walks 4!
meters. How many meters is he from his original position ?

fife 30 Mex SR A AR A 2 $HD @ I GO E AT 40 Wl FdT
sqS vEd g gR) gem & aen 20 Hew gudl €, $9e a1 Y T gl 8 v 4
#rex godl 2| 98 3Ue o e ¥ fe fley w g ?

(1) 0 (2) 10 (3) 20 (4) 40
In a code language if POSE is coded as OQNPRTDF, then TYPE will be coded
as :

Fs AW # afs POSE & OQNPRTDF & & # ®is fhan w1 8 df TYPE &
@rs fdar wmem

(1) SUXZOQFD  (2) SUXZQOFD  (3) SUXZOQDF  (4) SUXZQODE

The ratio of number of boys and girls in a school of 770 students is 7 = 15. How
many more boys should be admitted to make the ratioof 1: 17

770 Renfidi & 1o wha #§ oed ok defed @ e & s 7 ¢ 15§ fE
AR oree! B yay faan W b srqun 1: 1 8 @ ?

(1) 90 (2) 280 (3) 220 (4) 240

[f 4 is subtracted from the cube root of any number, it becomes 5, then what i«
the number ?

IR & @ & e W 4 ue By sy, a1 7w wem 5 0 Al © oo v
aqr g ?

1y 729 (2) 829 (3) 3 (4) 629

(S) P.T.O.
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18U/102/20(Set-1)

13.  The next number in the following series 15 .
TR e ¥ anred) weanm & -
40, 60, 47, 53,54, .......
(1) 33 (2) 39 (3) 46 (4) 61
14, If the perimeter of a rectangle is 52 metre and the area is 160 m°, then length of
the rectangle is -
(1) 25 m (2) i6m (3) Ym 4) 20m
ST G® STHd @) uffer 52 Mex # R e fawer 160 avifier & o) anug &
eH e anf
(1) 25 %R (2) 16 #HEx (3) 9#rex (4) 20#rex
15, Find the next number in the following series :
Pl Ao 4 snren sig qat

(1) 217 (2) 343 (3) 433 (4) 200

16.  Find the missing number in the following figures :

et fom A & gt g wem w1 R

TN AT AT
NPANDAND

(1) 52 (2) 36 (3) 117 (4) 81

17. A manis 24 years older than his son. In 2 vears, his age will be twice the age of
s son. The present age of the son is :
(1) 14 years (2) 18 years (3) 20 years (4) 22 years
N IR $l W IAD e N 37§ 24 e IfE B D Aol a8 9Ed) SH
ST A8 T T W A AN G| FP B adwr Im 2
(i) 1491 (2) 18 Gl (3) 209 (4) 22 A

18.  Cui of 430 students of a school 323 play tootball, 175 play ericket and 50 ol
them neither play football nor cricket. How many students play both footbali
and cricket ?
ik TEA @ 450 BIE | 325 Hed Wed € 175 fee Yo § ok s § 50
IF W E AT geard AR T & Bhae @ed &) e v geaia v fee
gl Gerd & 7
(1) a0 (2) 75 (3) 100 (4) 225

(6)
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20.

21,

22,

23.

24,

18U/102/20(Set-1)

What will be the angle of elevation of the sun, when the length of the shacoi
of a troe is ¥3 times the height of the tree ?

A4 (F TS @ OPN B dRIE, S FAE | 3 T L @ @A F ITEA BT
&g & 7

(1) 30° (2) 45° (3) 60° (4) 90°

A train which is 700 m long is running at the speed of 72 km per hour. If it is

crosses a tunnel in 1 minute, then the length of tunnel in metres IS :
(1) 700 m (2) 600 m (3) 550 m (4) 500 m

@ ST T b 700 Bex el 2 72 e wfy wOR A AR A 7w @ ¥ ) R T
S TE g 1 fAme # oR @l @, @ g9 @ onarg 8
(1) 700 % (2) 600 #Arex (3) 550 #rex (4) 500 #rex

The area of largest triangle which can be inscribed in a semi-circle of radius ris:
 r o & aige @ oy Rer W 78 e @1 & €
(1) 2rem’ @®0Y) (2) A em’@od)  (3) 8rem’(@Hod)  (4) 2nrem’ (FHlCT)

A hall is 15 meter long and 12 meter broad. If the sum of the areas of floor and
ceiling is equal o the sum of areas of the four walls, the volume of the hall is:

TH B 15 Her @l ok 12 fier Hier 21 3R g9 gl @ B 3R B B AEuT
T O OR R D SAEA @ AR B AT €, A1 §9 Eict $T1 YT BRI 8 q
(1) 720m’ @) (2) 900m’ (o)  (3) 1200m’ @6’) (4) 1800 m’ (o)

A tank can be filled in by one pipe in 4 minutes and by another pipe in 12

minutes. If both pipes are opened simultaneously, in how much time will the
tank be filled in ?

(1) 2 minutes (2) 3 minutes (3) 5 minutes (4) 6 minutes

T T @ OB gz W A H 4 fide aan € ofR g UgY W sRd A 12 e
FTAT 1 OFPR S Usy UaHel @ o) we £, o) €@ @ A H fda any
T ?

(1) 2f=e (2) 3fAe (3) 5 @ (4) 6 fawe

7 percent of 3 hours and 20 minutes 18 equal to :

(1) 14 minutes 3 seconds (2) 14 minutes
(3) 13 minutes 3 seconds (4) 12 minutes 2 seconds
= =92 3R 20 Pee &1 7 widera gran 2
(1) 14 e 3 Govey (2) 14 e
(3) 13 fa=e 3 Fwvsy (4) 12 e 2 Sadveq
(7) P.TO.
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18U/102/20(Set-1)

25.

26.

27.

28.

29.

Which one of the following fractions is th. largest ?
IR = A B wey Ger ¢
I 91 73 83

117100 807 9
1) 91l 73 83

(1) -- 2) -—. L -
} I 2 00 ©) 80) R ()
SECTION -1l
g — ||
(CHEMISTRY)

IR REEIR)

For the process HAO(l) (1 bar, 373 K) = H20(g) (1 bar, 373 K), the correct ~ct
of thermaod Vhamic parameters is :

THE H0() (1 4R, 373 BReH) = 1,0(g) (1 4R, 373 ) & swmi
HTEo @l QT;?T ?E_Ti]?.:".'ﬂ' 2

111 NG =), As= ve (2) AG =+4ve, AS=(

(3) AG =1, AS = +v () AG =-ve, AS = +ve

The solubility of Shasz in water is 1.0 x 107" maol /L at 298 X What will be its
solubility produc. ?

WA ShaSy @l TTu 298 Sfeat W 1.0 <« 10 mol/L #1 sud Rgud s
47 B Y

; = g b - g "ﬁ.‘ = :
(1} 51077 mal™ /12 (2} %10 mdl™ /1"

(3) 36x 107 mol* /13 (4) 108 x 10 mol” /17

Which one of the following salls will produce an alkaline solution while
dissolving in water ?
O T gEd WEA T A @ dqow emd e 3 e ?

(h NH (2) NasSO, (3) NuaCOs (4) NaNO;

AL 25°C, the hignest osmotic pressure will be exhibited by 0.1 M aqueous
01 E R N

(1) urea (2) glucose (3) KC! 4y CaCly

25 Jfowud W Udea WRWNET €id 9 A 9 a0 M odm fawaT g
gef¥a faar smom 2

() gRa (2) TeHI (3) KCI (4) CaCls

(8)
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18U/102/20(Set-1)

30. The limiting molar conductivities (A”) for NaCl, KBr and KC/ are 126, 152 ana
1508 em-mol ', respectively. The A” (in Scem<mol 1) for NaBr is :

NaCl, KBr @1 KCl & ¥WmbRl U] aredal A° ®He 126, 152 Gd 150 S
cm*mol ™! &1 NaBr ?‘g A° (Scmzmol_l H) e

(1) 302 (2) 278 (3) 176 (4) 128
31. Which one of the following is the best protective colloid ?

(1) Starch (Gold No. = 25)

(2) Gum Arabic (Gold No. =0.15)

{3) Egg albumin (Gold No. = 0.08)

(4) Gelatin (Gold No. = 0.005)

frsr & & a9 @ weifte weh semas & 2

(1) ¥4 (W@l Ho = 25)

(2) 9ga Mg (¥avh Ho = (.15)

(3) 3T WHE! (AT THo = ().08)

(4) forafes (vt Ho = 0.005)
32. Which of the following is used in treatment of blood cancer ?

M= A 9 fvad ST s 3R @ IugR A far e @ 7

(1) il (3) P (4) R

33. The enthalpies (AH) of formation of Al;O2 and Crh0Oj3 are - 1596 k] and
= 1134 k] respectively. AH for the reaction : 2A! +CryOy = 2Cr + Al O3 15 :

Al O3 T CrhyOy & fave & Il HHY: - 1596 k] Ten - 1134 k] & | a3y
2Ai+Cry04 = 2Cr + Al O3 B AH & :

(1) -462 k] (2) -1365K] (3) -2730 k] (4) +2730 k]

34. What is the molality of a solution containing 18 g glucose (mol. wt. = 180
2/ mole) dissolved in 500 g of water ?

(1) ITm (2) 2m (3) 0.5m (4) 0.2 m
Sﬂgmzﬂaﬁlsm BT (] AR = 180 T/ A) aret e @ dieteran aon
(1) 19 (2) 25 (3) 0.5 4) 0.2 7

(9) P.T.O.
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35. The correcl order of radii s ;

[ @ Wel B4/ B

(1) O<braB (:j_] L= Oj- < M:i;_
(3) Li<K<Na 4) Fod® & PoF o E5?

36. I a molecule XYy has zero dipole moment, the o-bonding orbitals used by X
(atomic number < 21) are:

(1) purep (2) sp hybridised
(3) s hybridised (4) s> hybridised
af XYy 0] &0 faga smepd g & @ X (R FE6 < 21) gR1 Y o-afRi
Heid gl -
(1) Y& p (2) sp THRa
(3) 2 TR 4) sp° Gl
37.  Among the lollowing paramagnetic one is :
[fefyg 8 s @
() 05" (2) 03 3) O3 4) CO

38. The correct order of electron affinity of halogens is :
BT @) gemE @ alimiNa G B AgRY @1 Hel e T
(1) F>Cl» B> (2) CI>E> Brsi]
(8) EoBr>Cixl (4) F>1>Br>Cl

39. Bond order in Oy & O; are respectively :
D~ 3R 04 H auf o G9= © o
(1) 2,25 (& 20,4 (3): 1,25 (4) '2.5,33

40. Which of the following is incorrect for the overlap of orbitals ?
(1) Two s-orbitals give o-bond
(2] One s- with one py-orbital gives o-bond
(3) p, with p, gives o-bond

Yy with 'y OF |t with p. gives m-hond

(10)

i E
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44.

45.

46.
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FP] & HGATT (3iavery) B W -1 Toa 8 7

(1) &1 s DD g-a T &

(2) UBsUD p, BEdH B A o-d8 A 7

(3) & p, N Py @ I o-a° o &

(4) T p, B GR p, T p, T TR p, F WY 7-9% & 8

The strongest Lewis base is :

T S Hfdw &Ry o are €
(1) NF (2) NHsx (3) NH>OH (4) N(Sili3)s

Which of the following does not have allotropes ?
1 % | P srReual |8 vefa @ ?
(1) C 2 P (3):'8 (4) 1

Which of the following is most basic ?

(1) Benzamide (2) Butylamine  (3) Nitrobenzene (4) Benzene
1 4 4 @19 Wew e e 2 ?

(1) aomgs (2) <EEE o (3) TEEEA (4) dofm

Which one of the following is a Vitamin ?

(1) Benzoic acid (2) Ascorbic acid

(3) Oxalic acid (4) Formic acid

= § 9 o491 1 fRefdm g 2

(1) I~gs gfe (2) Wifds RS

(3) Sfaufers TRIS (4) wiffa yRre

A mixture of a-amylose and amylopectin is called :

(1) Lactose (2) Starch (3) Cellulose (4) Sucrose

u-UHTEEN 3R TATgAl Ufdew @1 T s de o @

(1) da (2) T (3) @ (4) S

Aniline is :

(1) Acidic (2) Neutral (3) Basic (4) Amphoteric

viafers g

(1} STy (2) J=riH (3) &Y (4) Tvwer's
(11) P.T.O.
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47.

48.

49,

50.

51.

92.

Which kind of fission is favoured by sunlight ?

(11 Teterolvlic fission (2} Homolytlic fission
(3) Both (1) and (2) {4} No fission

G4 HEr & TR uER o1 w8 & ?

(1) Ruse Ads 2) @AY faEsH
(3) 87 (i) SR (2) (4) DI AESH HEl
When calcium acelate is distilled it forms

(ly Acetic aad (2) Acetone

(31 Benzoic acid (4) Ethanol

4 DHieTH e & 3o o s & a1 gg e & -
(1y UiRiies TRig (2) wdrer

\3) &=t (Tirg (4) gife

Formalin is ;

WiReM #

(1) HCHO (2) CHsCHO (3) HCOOH (4) CH3COOH
Which gives nucleophilic addition most easily ?

B GEQ e T ATEEe T odr 8

(1} HICHO (2) CHyCHO (3) CHACOCH3  (4) CH3CHACHO

SECTION - lli
GUg — il
(PHYSICS)
(it farsm)

[ 2 castory o umits, the units of length, mass and time are 10 cm, 1t gm and
L1 sec respectively. The unil of force in the system is equivalent to

(1) 1M (2) 10N (3) 100N 4 01N

sl AEE vl 8 oRad, Wisn 3T T A e 10 U, 10 T 3R 00 Fe
SEEStR i R o S i B R AT (O

(1) 19774 (2) 105ge= (3) 100} (4) (.1 =%

A slone at rest al the top of a tower is dropped on ‘the gﬂ?llf;ld- The distance
travelled by the stone in the last second is (taking g = 10 m/ sec”) .

(1} 45m (2) 25m (3) 15m (4) 20m
{12
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BRIl @ 6 YR B T W™ B PR © gl W firen e ¢
: . Lk - " PRI T,

FEVE T TR gt gl ) € {g = 10 Fo /o Ad W)

&) B (2) 254 (3) 15%0 (4) 207

A particle moves in a circle of radius 40 cm with a constant speed of 8 m/scc.
Its acceleration is :

(1) 160 m/sec” (2) zero (3) 20 m/sec” (4) 25.6 m/sec
U BV 40 W B @ g7 w8 Bo/Ae B Fug ara @ g @ T FH @i
(1) 160He/q0°  (2) T (3) 20 %o /Jo° (4) 25.6 %o/ 0"

A 100 N torce acts horizontally on a block of 10 kg placed on a horizontal rough
table of coefficient of friction p = 0.5. If g at the place is 10 m/sec, the
acceleration of the block is

(i) 0 (2) 5 m/sec” (3) 10 m/sec (4) 5.2 m/sec”

@ 0.5 991 o qrel GRgr Afest 6 W @ 10 frio & (@ 9 ghs W U
100 e &1 &fdsl & w1 TR @ a8 ¢ &1 IF Wi W W 10 Mo /o™ &, @l
7 five @1 w@wer g

0 (2) 540/30° (3) 10 Mo/&0>  (4) 520/

Two bodies of equal Kinelic energies have masses mq and w5 . Their lincar
momenta are in the ratio : ‘
TR Mas B & T A0 & T my 3R my ¥ I W dam a1 305

B -
(1) my 2y (2) ma (3) JEH/”‘E (4) m?x;‘*ff_‘.

]
A sphenical ball rolls on a table without slipping. The fraction of rotational
energy to the total kinetic energy is :

0P MeeR A fed A9 W fen e geem &1 we gl el @ we
Tad e 3 U €

(1) 2/5 (2) 3/5 (3) 2/7 4) 5/7

The period of revolution of a planet in an orbit of radius R is T. [ts period of
revolution in an orbit of radius 16R is :

R fwan 2t werr & fssf Towe o oRuwer oA T 2] 16R Bom @ zerm & cose
TREHU #ld T
(1) 8T (2) 82 T 3) 16T 4) 647

(13) PTO
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98. A liguid rises in a capillary tube if the angle of contact is:
(1} acute (2) obtuse (3) 9w 4) O°
! BR®T 7 1 618 ga SR qed 7 IR el PR
(1) =D (2) wfde @Tor (3) 90° (4) 0°

59. A Carnot engine absorbs 10* ] of energy at temperature 227°C. Engine operates
between temperature 227°C and 127°C. The work done by the engine is :

Um FE guE 227°C ue 10t ] St smefla wRar &) §9F amEEl 227°C AR

127°C & 413 H12 &dar 8| guiF BRT $a B 2
(1) 20007 (2) 4000 ] (3) 5600 ] (4) 8000 |

60. In a simple harmonic motion ¥ = 3 sin of + 4 cos of where y is in ¢m, the
amplitude s

(1) 3¢m (2) 4¢m (3) 5cm (4) 7c¢m

= 3sinof + 4 cos of TR ATad Ty H, e y AHlo H B, 3T BRT

(1) 39D (2) 4 9 (3) 5 (4) 739
61. Ullrasonic waves are produced by

(1) Doppler's effect (2) Coulomb's law

(3) Peltier's effect (4) Piezoelectric effect

s adil @) gl axd 2

i) SRR MY (2) wE T
(3) Uit 796 | (1) TaEafdgs A

62. Two charges cach of value Q are placed at equal distance from a charge g along a
Iine. In order to keep the three charges in equilibrium the charge q, is:
el AITY g § qvAR g8 O [ USHHE Hqqw Q Wl ¥ | W &1 A aae @
erger @ A g Al @

(1) Q/4 (2) -4 (3) d 4) Q/2
63. The conductivity of a super conductor s :
(1) infinite (2) zero (3) very large (4) very small
) v (i) A &) dicdadl B 8
DR () T (%) TE e (4) T

(14)
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64.

65.

66.

67.

68.

69.

18U/102/20(Set-1)

Heat pmdmrud b}' a 10 W heater in 2 minutesis:

(1) 4000 ] (2) 6000 ] (3) 10000 ] (4) 12000 ]
Al 100 W EeT gR12 se 9 Ia1 ool 8
(1) 4000 5[ (2) 6000 S (3) 10000 = (4) 12000 uje

The resistance of the coil of an ammeter is R. To increase its range four fold, the
shunt resistance required is :

et aRTndt & Fueeh @ afoRe R #) 39@ W @GR T g @ few g
FfoTe 1 srawrddl gl 2

(1) R/3 (2) 4R (3) R/4 (4) R/5
Energy in a current carrying coil is stored in the form of :

(1) Electric field (2) magnetic field

(3) heat (4) dielectric strength

R RT WATE dlell HUSl A St wafed g g
(1) dea &4 4 (2) DI &3 7
(3) o1 4 (4) gudgd ufd 4

The vertical component of earth’s magnetic field is zero at a place where angle ot
dipis:

7udl B FEGIY 43 1 FEARR UCH 99 WH W I Bl § Wl W Afd BV &
HTE BT B

(1) 60° (2) 90° (3) 0° (4) 45°

Lenz law 1s a consequence of the law of conservation of :

(1) charge (2) mass (3) momentum (4) energy

o~ g aRufy & wvermr & fHaw @

(1) My B (2) ZawE @ (3) G B 4) T B

Which of the following is infrared wave number ?

(1) 103 cm’’ (2) 10" em’ (3) 10°% ¢m’! 4) 107 em’

M7 3 @i JaRad ORI 6T 8 7

(1) 10" g4 (2) 10 ! (3) 108 /f (4) 107 ¥
(15) PTO.
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70.

71.

72.

73.

74,

79,

What 15 the form of the wavefront associated with a parallel beam of light ?
(1} cvlindrical (2) spherical (3) plane (4) ellipsoidal
D4l WHITTR T Y5 W WaEg avill e 6l W@ey el @ ?

(1) dA41FEN (2) MeATHR (3) e (4) {dgerER
When a red flower is seen through a green glass it appears :

(1) red (2) green (3) vellow (4) black

e U@ W u B 8 B b UR A ol Wil 8 ol 98 W el 8

(1) e (2) & (3) dreir (4) @1

An X-ray tube operates at 10 kV. The ratio of the X-ray wavelength to that of the
de-Broglie wavelength of an clectron accelerated through same potential is :

U X-flew Teft 10 kv ue o1 deelt @) X-RRw @ avnrewd &1 9 wg @ @R
-awqﬁg'?ﬁ—mmﬁmd%

(1) 10:1 (2) 1:10 (3) 1:100 (4) 100:1

In terms of the Rydberg constant R the wavenumber of the first Balmer line is :

Ramt (i R & &4 8 uqu qrae ) & eviraey 2
: IR SR 8K
(1) R 2] — (3) — 1) —
( 3 } ab ) Y
In a hall wave rectifier circuit operating from 30 Hz mains frequency the

fundamental frequency in the ripple would be :

(1) 25Hz (2) 5011z (3) 70.7 liz (4) 1001z
S0 T e W e 4 e ol anee® aRuer # Reer A 5w aingle el
(1) 237¢H (2) 50 8w (3) 70.7 g (4) 10 T

here s no atmosphere on moon because

{11 there is no vegetation

(2) there s vacuum in space

(3} the escape veloaty at its surface is very low

(4) diffusion constant of gases is high

(16)
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collegedunia

—



76.

7.

78.

79.

18U/102/20(Set-1)

TEH W ARHISH A €, TP

(1) 981 g=rgiadl 8l &

(2) srafler # ek 2

(3) $6S TA W YATIA AT g BH 8

(4) |1 &1 e Faae 9= @
(MATHEMATICS)

(vrforer)

Let f(x)= u—: ,x = -1, for what value of a, f (f{x)) = x?
X+

af f(x)=ﬂi-,.w—1,ua"i g 79 @ fon f(fix)=x8 7
X+

(1) V2 (2) -2 (3) 1 (4) -1

2002 :
Let f be a real value function such that f(x)+2f L - '~ 3y for all x > 0, then the

/
value of f(1001) is:

IR fue IRARE He & ;{mzf 3-”93-\_& v x> 0@ f(1001) @ 7 &

v

(1) -998 (2) -997 (3) =996 (4) 995
If cot™ [Jcr.msu]- tan " (Ycosw )= v, then sin v is equal to :

afe cut"lwcmu] tan | (qusu)--x gl sinxy @ HHF 8 ¢

(1) tan?(a/2) (2) cot?a /2 (3) tana (4) cotu/2

11](12[131 | |

I { equal to maltrix
0 170 10 1 |u 1

If the product of n matrices {

.

1 378
0 ; 1 , then the valuc of nis:

|1 1‘| 1 2!{] 3 I &l () 1?."':‘{ .
a2 N@ﬁ 0 1J i“ o 1"[_'\3 l_i @1 TEHAGE AT o 1
g dind A ? :
(1) 26 (2) 27 (3) 377 (4) 378

(17) PTO
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80.

81.

82.

E A 1 |
HD ;i I 1+x 1 VX, y£0then D
T 1 1+y

(1) is divistble by neither x nor y
(2) s divisible by both x and y
(3) 1s divisible by x but not divisible by ¥

(4) 15 divisible by ¥ bul not divisible by x

R 1
D=1 1.y
:El I 1.y

(1) x, yor & 9 feh & Rl w8 8

(2) x. y&r 9 fnfora &

(3) v 9 i@ 2 afFT y O ffim o 2
(1) y @ frnfoa 2 afFa » @ feforr & 2

Vx,y»079 D:

The value of lim (1+2)9%Y will be -
v—()
e )
(1) ¢ (2) - (3) o° (4) None of these
lim (1= )Y @& e 8Rn
v ol
(1) o @ 2 (3) (4) B a8
W28 +2% =28"Y | then 1y will be:
dx
o o4
(1) = (2)
5
(3) 1 2 (4) All options are correcl
iy 2V 4 2¥ =2V Ay ':l w1 B+ BIIT
(Y
'1._“‘ -
(1) —-;1_- | (2)
(3) 1 2¥ (4) W0 Aaey g8 €

(18)
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d - - 7. =~ 0
83. Ifa, b, ¢ € Rsuch thata + b + ¢ = 0, then the quadratic equation 3ax™ -2y - ¢
has :

(1) atleast one rootin (0, 1)

(2) one rootin (2, 3) and other in (-2, -1)

(3) imaginary roots

(4) one real and one imaginary root

e a,bcc RAVER 8 fF a+b+c=0, frarg ERreR 3rLT2 +2bx + ¢ =} F
(1) &R ¥ & & 7o (0, 1) ® &7

(2) TS H (2, 3) iR guwi (=2, ~1) 7 &M

(3) qF! Yo Aferpfead 8

(4) T T IRaGfdS T U qo Afdioad e

dx
84.
j rlr” \

x" +1

(1) —lug‘ J+C (2) —lng(
n TLx"+1

.1‘" +1

]}+C

(3) log[

l.c (4) 1ang +C

a3
(where C is constant of integration)
(s€l C s URId- AW B)

L )I /3
85. The value of I

.\

dy 1s:

1

: (.T".I'L ] N
j- 1 dx &1 A €

13 X
(1) 6 (2) O (3) 3 (4) 4

86. Integrating factor of the differential equation (xlog ”i_ +y=2log x1s:
ax

IqHA FHEI (1‘[051’)%+y:210gx d1 FATR A [OTH g
ix

(1) x (2) -¢? (3) logx (4) log(log x

(19) P.T.0.
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L A T . G e S . S, - £ %
87. It A-i-j-k p Bri-j~2k , C=xi+(x-2)j-k and € lies 0 the plane

- * _‘ ‘ ty ]
contaming A and B, then the value of x is

e

M A=izjok, Boi-jodk, Coxii-2ji-tqm A &R B 1 v@d a
R & C R v A
(1) 0 2) 1 (3) — 4) -2
88. The distance between two parallel planes 2v + 17 + 2= = 8 and 4x + 2r + 4z = dis:
% AWTETR THAA 204y + 2= 8IR Ay + 2y+dz=4 & g & W & :
(1) 1 (2) 2 (3) 3 (4) 4
89. It A and B are two mutually exclusive events, then :
U2 A 3R B &Y TRER smget gea § d)
() P(A) < P(B) (2) P(A) = P(B)
i2) P(A)<P(B) (4) P(A) > P(B)

90. The probability that A speaks truth is 4/5 and B speaks truth is 3/4. The
probability that they contradicts cach other o speak a fact is ;

AT B @ W die @ sirwar swve 475 Al 3/4 %1 el 9o W I g
£UAWIE 91 @ uifdea 3

(1) 3,20 (2) 1/5 (3) 7/20 (4) 4/3

91. A man s known to speak the truth 3 out of 4 times. He throws a die and reports
thatitis a six. The probability that it is actually siv, is
TF TR AN A N3 G W aiET B | W UT T T BET R SR B ol A
ST R g @ a8 B o @ gl 2

1) 3/8 (2) 1/5 (3) 274 (4 1/3
A | - . : .._? LIyt
92. 1!« B are two cube roots of 1 which are not p'.u'v!j-.' imagmary, then «= - 37 wili
be

TR R B o, P S TR G eree 8 £ d WS <t @& e e
(1) 2 (2) 1 (3) -1 (H -2

(20)
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93.

94.

95.

96.

g97.

98.

18U/102/20(Set-1)

| - 3 ;
If x"+x=1=(, then the value of 1'+lf *.‘1.34%,1 Ly -
. 5 v t Xx© 72 i
| 3
| (G100, 1} . |
S i _IU-UJ 15 :
\ \
3 , Y 3 / 3
\ ) 3
ald x +1+l UB’T ?ﬁ[t+—1-| +{r2+-‘%F +{x3+i.$ R i x]wd% |
. & | \ b \
HHq &
(1) 198 (2) 197 (3) 100 (4) 97

If sum to i terms of an A. P. is 31~ + 51 and its n™ term is 164, then the value of
Ms

afz feed "o AN @ n uet @1 A 3:12 +5n & a1 AN &1 mEl U 164 8, a1 m @
qH €

(1) 25 (2) 26 (3) 27 (4) 28
The remainder when 22918 is divided by 17is:

afe 22018 Y 179 R &Y o dwwa g

(1) 1 (2) 2 (3) 4 (4) 8
[t 3sin 0 +5cos 0 =5, then 5sint) -3 cos O is equal to :

7t 35in 0+ 5c050 =5, 55in 0 -3 cos O FT A & :

(1) 3 (2) 8 (3) 13 (4) 15

The incentre of the triangle with vertices 1, «.’3); (0,0)and (2,0) is :
oyt @1 s @ afe il & Ardwia e (1,¥3),(0,0) 3R (2,0)E

(1) Ii—] ) %-%] (3) f%,-‘-?-! (4) [1
»’ 9D /r

The centre nf the circle passing through the points (1), 0), (1, 0) and touches the
circle x* + ¥ =9 in the first quadrant is :

=3 (0, 0), (1, 0) 9§ &P A drel T2 gA x yz =9 P HH TATY H
B T I B bs b

(3 1} 1 3 [ 2.2 Ly
(1) | 3 (2) 12’2! 3) ! \2'2) (4) LE + 2,

NI-—-

(21) P.TO.
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-
-

99, !
J SIn/ v dy =

f2

(1) -E (2) 1 (3) (4)

o | o

. 1 i
100. If f(x)= J — then the domain of the function fis :

v 4 f(1) . ] = ?-ﬁ" al Wl J'-'_ﬁ'.' xﬁqu‘ﬂ% .

(1) (L, 2) (2) (2.3) 3) 11, 2] + [2. 3]
SECTION -1V
gre - IV
(BOTANY)
(@Ff fasm)
101.  The variel v of brassica resistant to disease is :
(1) Pusa subhra (2) Pusa swarnim
{3) Pusa komal (4) Pusa sadabahar
O IRRES Fiider B v 2
(1) 721 g (2) gar waftiy
(2) G B (4) T VeTEER
102.  The International Rice Research Institute is situated at :
(1) Manila, Philippines (2) Cuttack, India
(3) Tokyo, Japan (4) Dhaka, Bangladesh
Sl Maer arpaur wer Ree
(1) #fren, iy & (2) Few, HRd H
(N T e (4) @rdl, aiaiee §
103. The plasmid vector used for transfer of gene in plants is
(1) »BR322 (2) plUCIY (3) YEp24 (4) Ti

(22)
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104.

105.

106.

107.

108.

108.

110.

18U/102/20(Set-1)

Phytohormone produced by a fungus is

(1) Auxins (2) Cytokinin (3) Gibberellins  (4) Ethylene
&g g IO UTET g &

(1) ATAHET (2) Aga@AE (3) REveE (4) SATSEIA
[hum cultivation is commonly known as :

(1) Reforestation (2) Slash and burn agriculture
(3) Deforestation (4) Forest conservation

g W B MEAR WS T €

(1) THaTae & &9 ¥ ‘ (2) el T Wl Wt B w4
(3) i & &9 4 (1) T W& & wO A

One of the 'Green house' gas is :

(1) Hydrogen (2) Meihane (3) Oxygen (4) Helium
ves ERa 78 a2

(1) BISSIF (2) W= (3) 3iffarer (4) dferaw

Concentration of CO; during year 2016 was about :

a4 2016 @ SNH CO, @1 W TTHT 8

(1) 360 ppm (2) 400 ppm (3) 420 ppm (4) 330 ppm
Salinity of oceanic water is approximately in the range of :

TETARNII T @1 SdURT o T 8 ¢

(1) 3-4% (2) 8-10% (3) 15-16% (4) >20%
The fungus used as biocontrol agent is :
t1) Fusarium (2) Trichoederma (3) Penicillinem (4) Phoma

o AT FNHS B E9 A g Had ¢
(1) ggarzs (2) zrEHISH (3) afrdiforag (4) BT

Viroid contains :
(1) Protein only (2) DNA only
(3) RNA only (4) Protein plus DNA or RNA

(23) P.T.O.
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! 3 3

112.

113.

114,

TEOA 9 Bl 8

(1) ®ast UeH

(3) HIA ANYHY

Pneumatophores are found in :

(1) Rhizopogon (2) Rluzophora
ST WY T B

(1) gwmigm = (2) e i
Tomato belongs to family :

(1) Liliaceae (2) Fabaceae
CHIEY & ¥ &

(1) foferat (2) BEA

The function of Phloem is :

(1) Conducting tissue for waler

{2) Conducting tissue for minerals

(2) Wed SIUHU
(4) FIE et AT AT ARCAY

(3) Hwdrilla (4) Nuympltia

(3) &rgfeerT H (4) Fffpar 4

(3) Solonaceae (4) Rosaceae

(3) TR (4) ot

{3) Provide mechanical strength to the plant

{(4) Transport of sugars

‘F'TE,"T F Y P

(1) ¥d 3¢ &a® &1 el

(2) WA © T Sdd & e
(3) W &t FifFF Ifed ITHe O

(4) IR & uRaEs

The correct sequence in Prophase | of Meiosis is :

(1} Leptotene —» Pachytene —» Zygotene — Diplotene — Diakinesis

(1) Leptotene —» Zygotene — Pachytene -» Divlotene —» Diakinesis

(3} Zyvgotene - Leptotene = Pachytene = Diakinesis — Diplotene

(1) Leptotene -» Zygotene —» Pachytene — Diakinesis > Diplotene

(24)
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115.

116.

117.

118.

119.

SRIEAV gt ® U BE |

(1) &I » TEEH-» TIEMET > (AL — S1Ubig A4
(2} FRIEHT > WA > Fareld — [ —» sraeafid
(3) GETEN > TEIEH - UAEH - SIFHEANE — e«
(4) TR — TENER - TR > SRAEARE - fFeid=

18U/102/20(Set-1)

When fats are used in respiration, respiratory quotient (RQ) 1s :

WY ¥qy 4 e B g0 fEm @ 2, vawa @fd (RQ) B 2

(1) 09 (2) 0.7 (3) 1.0 4) 1.2
The first recombinant protein produced using genctic engineering was :
(1) Human growth hormone (2) Insubn

(3} Transplasminogen Activator (4) Bovin Somatotropin

ST Sifaie B sEeT T gy 9w v Retae mide @

(1) =g giy er (2) s=gfert

(3) EIETREAaTeE Ufdeder (4) AT WegaE
An example of genetically modified (GMO) crop variety is :
(1) IR-8 (2) Sonalika (3) Golden Rice  (4) IR-36
ATERTE R B 6T SeTEN 8
(1) 3MFEFR-8 (2) e (3) Mieew WY (4) IMEIR-36
Algae group which lacks sexual reproduction is :
(1) Blue-green algae (2) Green algae
(3) Brown algae (4) Red algae
vare g Or dffre garee A e 2
(1) & #Ra dara (2) &1 dare
(3) *R1 daret (4) el Srars
Which is not correct for banana fruit ?
(1} Parthenocarpic fruit (2) Develop without fertilization
(3) Seedless fruit (4) False fruit
Tl Bl D [0 SHE-91 G& F@ R 2
(1) Afm® we Ha (2) Fmad & fae Ty
(3) diofed we (4) 3T Fed
(25) P.1.0.
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120.

121.

122.

123.

Highest protein content is present in which algae ?

(1) Scenedesmus (2) Chlamydomonas
(3) Chldorella (4) Spirulina
sifa@es Jid A 5w Sare § dioe gar @ ?

(1) dfewaa (2) @SHZSIATAI
(3) FA (4) Fgwefln

Methane-biogas is produced by methanogenic bacteria under :
(1) Aerobic condition

(2) Anaecrobic condition

(3) Both under aerobic and anaerobic conditions

(4) Nlicroaerobic condition

AeE-arariy Mearofie W] g7 fded swrta o= 8T @ 2
(1) agaidt Rufy =

(2) et Refa A

(3 @ d qon eyl gri Rerfaen 4

(4) qes argeird Refe 3

Which of the following is not used in Biofertilizer technology ?
(v Azospirillim (2) A:zotobacter

(3) Lscherichia (4) Rhizobinm

e # G fhaer waR S gdke defrat § @t R o @ 7
(1) TR (2) voierdacy

(3) veaRfEm (4) wgonfauy

Process of water exudation through hydathodes is known as :

(1} Guttation (2) Transpiration
(3) Evaporation (4) Bleeding
FIERos & SN wa fAaw @ Ui P S Gl g
(1) 72 (2) TR
(3) W (4) R

(26)
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124.

125.

126.

127.

The organelles involved in photorespiration are .
(11 Glvoxvsomes, chloroplast and mitochondria
(2) Chloroplast, peroxisome and Gl VOXysomes
(3) Mitochondria, peroxisome and glyoxysomes
(+) Chloroplast, mitochondria and peroxisome
TTY 9 W I 3 d €

(1) TETIRIRINN, FTERTERE Ta Agcihigar
(2) FRIEARE, TIHFIEH & TAIISATRIAT

(3) AR, RATFIAH T @ daifaiam

(4) TARTERE, AIECIBITVSI Ue YT

Reaction centre of photo system-I in green plants is :
g Gl d were wonetl-l #1 sfafhm @ 2

(1) Pegp (2) Peop (3) Proo
(ZOOLOGY)

(wg fawm)

Axolot! is the larva of :

(1) Ambystoma (2) Round worm
(3) Amphioxus (4) Silk moth
UHETAC o arel #

(1) R & (2) M FiR @1
(3) TRpITaEd ®l (4) ¥H P B

Which of the following is a mammalian feature ?

(1) Presence of paired pharyngeal gill slits in adults
(2) Presence of notochord in adult

(3) Presence of ventral nerve cord

(4) Presence of mammary glands

(27)
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(4) Prso

P.T.0.
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T B A A S B v R & 7
(1) Fuwnl # gfe uwefa gam Rere @) gufkefe
(2) SO%F ¥ ArasrE ¢ suRefy
(3) 9% Tha dfFan a= @t suRafy
(4) @+ AfEl B sufRufy
128.  Ostrich belongs to the class :
(1) Mammalia (2) Aves
13) Reptilia (4) ‘Archaeupteryxia

T ST FT B

(1) ¥ a3 (2) mefr gt
(3) =gy o (4) sufFdreRixg ot

129.  The concept of binomial nomenclature was given by :
(1) Lamarck (2) Darwin (3) Linnaeus (4) Watson
fee aresh @t sremven & far o

(1) &% 3 (2) wifd = (3) @raT A (4) TEIE A

130.  Which one of the following ecological pyramids can never be inverled ”

(1) Pyramid of size (2) Pyramid of energy

(3) Pyvramid of biomass (4) Pyramid of number

frer W @ B aiiRefad) fvfis Sea1 7 & W

(1) amer & Aafs (2) Sl @1 FRTHS

() arimR @ e (4) wiem B fowfae
(28)
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131.

132.

133.

18U/102/20(Set-1)

[he first vertebrates to appear on the earth were :

(1) Ostracoderms (2) Osteichthyes
(3) Placoderms (4) Condrichthyes
gedt R fRang wen 9l g @ereas) i o -

(1) siRgTHTEH (2) sifRefdery

(3) <pred (4) Bifgleer

Evolution of sex has been necessary for :

(1) Continuation of species

(2) Generation of variety of characters

(3) Constancy of traits gencration after gencration
(4) Keeping the population in limit

forr &1 Rema 7= § @ i oo & forg smawas €
(1) wonfodi & &1 &= @ 71

(2) feff=rar @ ot & v

(3) N g3 N Feon A gHHua @ forg

(4) FTHGEN & JiRg W @ o

Which one of the following served as the best natural vector to produce
transgenic piants ?

(1) E Coli (2) Pseudomonas species

(3) Bacillus thuringiensis (4) Avrobacterium tumefaciens

T U B I B B oY WO Fipfam deey @ wd i e F e
&M F A ol g 7

(1) Fowiog (2) wEHT gt
(3) e yRFRavAT (4) TARGINGY egEiplaT
(29) PTO
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134. \ligration of cancer cells from the place of their origin to another place of the
body is termed as :

{1) Metastasis (2) Diapedesis
(3) Necrosis (4) Apoplosis
w-&w H 39 IR B W A G W a6 SR BINGR  HgwE Bl BE A7
&
(1) Terefig (2) feamaefaw
(3) fAmrfHy (4) vyrefasd
135.  Which law of Mendel is revealed by dihybrid cross ?
(1) Law of dominance {(2) Law of segregation
(3) Law of independent assortment (4) Law of heterosis

R B B P W GEY g9 vae ddr @ 7

(1) uye &1 frga 2) GAFHIOT B s
(3) wWad sy o7 fm (4) 2RI &1 Py

136. A nucleosome is made up of :
(1) Histones (H1, 2 molecuies each of 1H2A, H2B, H3, H4) and 200 bp of DNA
(2) Histones (111, 2 molecules each of H2A, H2B, H3, H4) and 146 bp of DNA
(3) Histones (2 molecules each of H2A, H2B, H3, H4) and 146 bp of DN A
(4) Histones (2 molecules each of H2A, 112B, 113, H4) and linker DNA
fadiam s &
(1) % (H1, 2 319 wels H2A, H2B, H3, Hd &) da1 Sivag &1 200 bp
(2) B (H1,2 3] war® H2A, H2B, H3, H4 1) T2 SIgaU @ 146 bp
(%) fReem™ (2 3] weftw H2A, H2B, H3, H4 ) e 3101 @1 146 bp
(4) 2% (2317 "eld H2A, H2B, H3, H4 &) aun fére €y
(30)
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137.  The poison fangs of a venomous snake are modification of

(1) canines (2) mandibular teeth
(3) maxillary teeth (4) incisors

T WY 7 favga aRafda w9 & -

(1) = F (2) aeleq <fa @

(3) P <fa B (4) PRIB B

138. Which of the following is called as Portuguese man of war ?

(1) Auwrelia (2) Obelia (3) Physalia (4) Hydra
fr=1 4 9 5 gdfla 3 s ar @ed & ?
(1) Sitfeforar (2) aifaferan (3) wrgafern (4) &TEgm!

139. In Yeasts, the end product of glycolysis in anaerobic condition is :

(1) Pyruvate (2) Lactate (3) Ethanol (4) Citrale
gree A Jgrguidl Havel ¥ Tagaifafi @ siftm S #
(1) WgEe (2) “faee (3) %o (4) wrgge
140. Hexokinase which catalyzes reaction between glucose and ATP is an example
of :
(1) oxidoreductase (2) transferase
(3) lvase (4) ligase
Rodags F g qun o @ 4 afRfha @) eSiRd s B SIERY
(1) JicireiReaes &1 (2) TT=AMBRS P
(3) @gA W1 (4) agie @l

(31) PO
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141.

142.

143.

Which one of the following is nol an essential fatty acid ?

(1} Linoleic acid (2) Stearic acid

(3) Linolenic aad (4) Arachidonic acid
et & @ @V @h JEeE iy are wd # 7

(1) fadrazs thas (2) wRe tiys

(3) faiafe o (1) wifkhs&e s
Reverse transcriptase is also called as :

(1) DNA dependent RNA polymerase

(2) DNA dependent DNA polymerase

(3) RNA dependent RNA polymerase

(41 RNA dependent DNA polymerase

Brors| CIEERE @t e ) TET T 8

(1 ST (ST SINGAY Srenfan

(2) €vau fsud= e g

(31 STVCHY (399U JIRTATT GTetfavol

(4) IR f3te UT ureftARG

Cleavage divisions occurring during embryonic development differs from

usual mrtosis by e
LU notinereasing size of the embryo

(2) not increasing the number of nuclei in the embryo

(3) ailowing only nuclear division and not eytoplasmic division

(1) not increase the size of embryo and not increasing the number of nucles

(32)
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i & @ TR @4 aen e fRwes g 0 feieE @ s 8w
(1) Yo @ HFHR P! J q@r &Y

(2) YU & BT B [ Bl A q@d g

(3) T T=d fPraa s0d gU 7 f& Fif¥mge e gr

(4) YO B HGR B A 4FWT §Y T FeuPp ¥ WAy B A T 9@t g0
Major portion of CO; is transported in blood as :
(1) carbaminohaemoglobin

(2) carbaminoprotein

(3) solution of CO; in plasma

(4) bicarbonate

W W COy &1 AfRwTe T wafed g @

(1) aRTRAraE & wu §

(2) BN & HY A

(3) =i | CO, & fdemm & v 3

(4) FFBEHE B FUH

Due to increased level of 2,3-bis phosphoglycerate in RBC, the affinity ot
oxygen with haemoglobin is :

(1) decreased (2) increased

(3) abolished (4) unaffected

A Y@ PR § 2,3-f sREPaiRe ¢ 92 'R @ mNw SMrafae 4w
ST @1 SHrHHoT -

(1) wear 2 (2) T &
(3) H9TE B WTeT @ (4) i =8 2var 2

(33) P.T.0
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146, During conduction of nerve impulse, the action potential is developed by

147.

148.

() Inward movement of Na* and outward movement of K

121 Inward movement of €K' and outward movement of Na™

% P k r¥
(3 Inward movement of Na™ and K

G Quitward movement of Na™ and K7

P 3m WA @ el @ SR veeE dieted famiia g e

(1) No* @ aitad) ya oo KT @ I Jars g
(2) K©F A wane aon Na© @ SR JaTE &R
(3) Na” U K" B M) FAE gr
(4] No® W KT @ 9l HUIE g

The neurons in brain are myelinated by :

(1} Schwann eclls (2) Astrocytes

(3) Oligodendrocytes (4) Microglia
afaws # 0@ PieRl § AR My & i g
i1y wan mE g (2) vigrETged N
(3) afmITgaEey grl (4) MBI ENI

The circadian rhythm in our body is regulated by :
(1) Melatonin (2) TSH

(%) ADH (4) Prostaglandin

gue w?ﬁﬁmﬁﬁﬁmﬁaﬁn%ﬁmé;

1) BaEfE ER (2) O TE T BN
oy 0 8 g (4) wRereeT BRI
(34)
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149. The photosensitive component in the photopigments is :

150.

151,

(1) opsin (2) all-trans retinal

{3) 1l-cis relimenol (4) 11-cis retinenal

URTS d9Th] H YT ATE! UCH &

(1) s (2) amdl grg ewd
(3) 11-Rre Meq+ta (4) 11-Rm e

The treatment of snake-bite by antivenom is an example of :

(1) artificially acquired passive immunity

(2) naturally acquired passive immunity

{3) innate immunity

(4) adaptive response

pfeafd g A e @ ITEAR F7 Serevy B
(1) PEm w9 ¥ org yidwen

(2) TPl Fu | urar wfowen

(3) wmiad wfaRen

(4) rgaet sEfdar

SECTION -V
g -V
(AGRICULTURE)

(@)
Which one of the following is a warm season vegetable ?
(1) Okra (2) Pea (3) Cabbage
st & & &1 ¢ fieT sikas geef & 7
(1) Mgt (2) #ex (3) agml)

(35)
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(4) Turnip

(4) %ioduiy

T 0
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152.

153.

154.

55.

An mdividual having the genotype AA 18 anown as
(1} Heterozygote (2) Homozvgote
(3) Fu (4) Hybrid

S WEET AA Gl UE @lfdd @GR §

(1) fewsmgns (2) HHGHG
(3) F {4) W

Who announced the launch of Rashtriva Krishi Vikas Yojana ?
L) Narendra Modi (2} [ndra Kumar Gujaral
(3) Ataf Bihari Vajpavee (4) Dr. Manmohan Singh
T B fawry we B YoeTa & angon e fiva ?

(1) g 7 (2) §% B¥R ORI

(3) awa faerd g (4) en wEHed RE

The red colour of carrol is due Lo presence of .

{1) Carotene (2) Anthocvanin
(3) Lycopene (4) Xanthophyll
TR @1 i T fbe Re e B 7

(1) FEA (2) QRATEIEA
(3) FEHIT (4) ST

wWhat is the seed rate (g/hectare) ¢t Brinjal ¢

AT AN A T i Eea)) T

1) 150-300 (2) 375-500

(3) 500-750 (4) 700-1000
(35)

i E
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156.

157.

158.

159.

160.

Carrot is a good source of
(1) Lycopene (2) Fat (3) Carotene

TR U 37E9T Wid &

(1) g (2) T (3) IEH
Tomato fruit type is :

(1) Berry 2) Sorosis (3) Pepo
THICR & 8 '

(1) a0 (2) HRifFE (3) 9

FPO (Fruit Product Order) came in India in :
IR H UHRS (el BT Ieurg AMRY) AT & -
(1) 1955 (2) 1950 (3) 1945

Highest productivity of grape is in :

(1) Italy (2) India

(3) USA (4) China

SR DI ITTH IAGHAT 8

(1) <ot ® (2) #rg #

(3) QgH WY MRt A (4) 91 A
Powdery mildew disease is caused by :

(1) Bacteria (2) Fungus

(3) Virus (4) None of these

TSN fiesg drt @ sR B &

(1) @aRm (2) ®ad
(3) arww (4) ¥ & T1E A
(37)
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(4) Protein

(4) wEH

(4) Capsule

(4) g

(4) 1959

PTN
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161.

162.

163.

164.

Whiptail in cauliflower is caused by :
(1) Excess of boron

(2) Deficiency of boron

(3) Excess of molybdenum

(4) Deficiency of molybdenum

W nf 1 gdraed @I @R B €
(1) TRH & alem

(2) A & &

(3) Wifeieea @) arfda

(4) ®fdem @ M

Potato is mainly propagated by :

(1) Tubers 2) Corm (3) Seeds
AT @ TG paUE g €
Ny Ty 2) ©9Da (3 o

(e national frunt of Indiais:

(1) Apple (2) Banana (3) T\langu

AT B ALY WA

(1) ¥4 (2) @ (3) ¥

One example of a micro clement is:

(1) Magnesium (2) Copper (3) Calcium

7365 aed @ YE SRR g

(1) iR (3) I

(2)
(38)

(d) Setts
(1) HCY
(4 Guava
(4) T%E

(4) Sulfur

(4) TTIE
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165. Largest producer of Papava in India is :
(1} West Bengal (2) Uttar Pradesh
(3) Andhra Pradesh (4) Maharashtra
IR H 9l &1 e 991 IUET &
(1) af¥=m @M (2) TR WY
(3) 3 ey (4) FERTS

166. Mango is commercially propagated through :
(1) Imarching (2) Cutting
(3) Layering (4) Veneer grafting
HTH @1 TEde yaedq gar &

(1) 2 & qu7 (2) wda

(3) =& 4) YT Faw @M
167. Bunchy top is disease of :

(1) Potato (2) Mango (3) Banana (4) Tomato
A O /TR
(1) 3N @ (2) @ @ (3) @am @ (4) THRER @

168. Japanese White is a variety of :

(1) Tomato (2) Okra (3) Radish (4) Brinjal
I @wige U e @
(1) enrex & (2) st @ (3) T B (4) &= o
169. Richest sources of Vitamin 'C'is :
(1) Guava (2) Citrus (3) Aonla (4) Chilli
(39) PO
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Draicia i il s v B O |2 I

(1) 3076g 9 (2) g 4 (3) afigar H (4) ®EH
170. CGir 1~ a tamous breed of :

(1) Buffalo (2) Cow (3) Goat (4) Sheep

1 U@ ufEE et 8

(1) &3 & (2) A @ (3) aHG o (4) 7S B

171, The Indian Sugarcane Research Institute is situated at :

(1) Lucknow (2) Bareilly (3) Varanasi (4) Bengaluru

ety T AT e Red @

(1) STy | 2) & W (3) arRRT A (4) dTdE #
172. Triticale is a cross belween ¢

(11 Wheat and Rye (Secale)

(2) Wheat and Bajara

(3} Bajara and Rve(Secale)

() Wheat and Maize

ST T W 8

(1Y T o WY (I )

(2} TE IR I

(3) @Rl SR TG ()

(4) g FE T
173.  Dwartvarietios of wheat were introduced in India in which year ?
et H an et A o s &R v T gan e Y

L) 190t (2) 1947 (3) 1963 (4) 1977
(40)

i E
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174.  One horseposver is equivalent
(1) 740 walt (2) 674 walt (3) 764 watt (4) 746 waltl
Uh ETHUMR [eanfen) awmaw i
A1) 7407w (2) 674are (3) 7647 (4) 746 7=
175.  \What is potash content in DAP ?

(11 20 percent (2) 18 percent (3) 0 percent (4) 30 percent

@ogotflo F drerer @Y fra ara et & 2

(1) 20 ufaeE (2) 18 uievr| S IGE (4) 30 ufdyer
176.  Which rank India has in fruits and vegetables in the world ?

(1) First (2) Second (3) Third (4) Fourth

3% ¥ wofl ok afewadl ¥ yra o1 BiH-ar wrg & ?

(1) usgan (2) & (3) drEw (4) =

177. Ranikhet disease is concerned with
(1) Cow (2) Buffalo {3) Sheep (4} Hen
CIRIE T bl WAy &

(1) T 9 (2) 9 & (3) M H (4) ¥ @
178.  Growing of plants under soilless condition is called :

(1} Hydroponics (2) Hydrostatics

{3) Hvdronomics (4) None of these

1 A & Wl B S Far T

(1) erggrafios (2) eggRfews

(3) EFRIAR (4) $9% & B
179.  Growing of only one crop on a piece of land vear after is known as :

(1) Mono-cropping (2) Mixed-cropping

(3} Inter-cropping (4) Sequential-cropping

(41) P.1.0
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aH U TFHS W BAS UE € B B dR-aR I HEeen € -

(1) ToRI-3[EA (2) MfEE-aw=
(3) SHRTEAA- AR (4) IT[HIAG-TET

180. [he Karnal bunt of wheat is caused by :
(1) Necvessia indica (2) Tiiletia horrid
(3) Urocystis tritic (4) LUstilago tritici

A A a2 @l RO Bl g

(1) =qifrn sfsar (2) feifirar gife
(3) FEIRRaa e (4) e fefewH!

181. A plant bearing both male and female flowers on same plant is said to be :
(1) Dioecious (2) Monoecious
(3) Poiygamous (4) None of these
tmﬁﬁ:m:fasﬁawuﬁﬁwmmmmzmm%:
(1) vEferms (2) SHgferAAT
(3) dichilseE (1) T A DR Tl

182. Edaphology is the study of :
(1) Soil development
(2} Relationship between plant and soil
(3) Rocks
(4} Fruits and Vegetables

(42)
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183.

184,

185.

186.

187.

E Iy TR WE B

g3

(1) ¥War e @l

(2) 9 AR 4R & mey wiae
(3) FC<H @&

(4) Wl Uq wfeaat &
Seedless variety of mango is :
(1} Alphanso
AW B NF Aea wonfy £

(1) STHTAm (2) a®! s (3) Hrom

Origin place of Sugarcane is :

(1) India (2) Brazil (3) China
T B IOfy e

(1) T (2) g {3) a9
Cajanus cajan is a botanical name of :

(1) Carrot (2) Cotton (3) Wheat
PATH FAT IAB AW F

(1) 7ok & (2) FUR &7 (3) 74 @

Genes are composed of

(1) Lipids 2) Proteins (3) DNA
o @i g &
(1) fofie & (2) "I (3) ST 7

The largest pesticide consuming crop in India is -

(1) Cotton {(2) Maize (3) Wheat
HIRA 3 699 o9 e

(1) TUNg

(2) Arka Anmol  (3) Neelum

WG FH gIen B

18U/102/20(Set-1;

(4)

(4)

(+)

(4)

(4)

()

(-4)

(4)

(4)

Sindhu
Rig

Africa

<3 DAt

Pigeon pea

HXEX &1

RNA

\?‘HW"' l\f Ui

Pigeon pea

(4) 3w

—

collegedunia:

India’s largest Student Review Platform



18U/102/20(Set-1)

188.

189.

190.

191.

Caivin Cycie is also known as

(1) Cz cyele

(3) Hatch-Slack cycle
Ffea™ Wh HY W AVl &
(1) C; uh

(3) FEH-vdp =ik

Phosphorus is necessary for :
(1) Shoot growth

(3} Baclerial growth
FEARG HeaF Bl 8

(1) i gfg & fae

(3) am A& & e

fz) (:4 C}"L‘|L‘

(4) None of these

(2) f:,] Th
(4) 379 4 BIg AE

(2} Root development

(4) Fungal growth

2) we fera @ oy
(4) wam Qe @ oY

The mosl suitable crop rotation to increase the level of nutrients in the soilis

(1) Paddy - Wheat

(3) Peanut - Wheat

(2) Maize - Wheat

(4) Paddy - Maize

cal % o Tedl B R B gor @ fay Haw Suga e Wb v
(1) 97 -- T8 (2) AaH1 — g

(3) Tjjl’-iﬁi"t. - fl—%

() & — HeFhl

S ipeni s 18
Plant growth regulator used for ripening of fruit

(1) Abscissic aad

(3) NAA

(2) Glyphosate

(4) Ethylene

5ot ) GHE @ forg e R e aren die JiE e €

(1) vhufEs olas

3) A TP NEE

(2) TATEIRIE
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192.

193.

194,

195.

196.

IRYSEM was started in the year :

18U/102/20(Set-1)

SlodNeATE o UTEZoWo fhy ad 3 g gar ?

(1) 1989 (2) 1978

(3) 1982 (4) 1979

DAPOG method of crop raising is associated with :

(1) Inter culture operation
(3) Seed bed preparation

(2) Nursery raising
(4) None of these

Eotoflodfofe wHe I B Ul & W

(1) =1 @1 Fyw fpan
(3) &'F T dard)

Jelly 1s

(1) Semi transparent
(3) Transparent
reft @

(1) sreiuray

(3) aweH

Tractors are specially made for :

(1) Tillage work

(3) Conveyance work
SR i su A e e &
(1) JarE &% & fou

(3) aEs ort & forg

Dibbler 1s used for :

(1) Ploughing

(3) Levelling of land

RRaer @1 warr s s 2 -
(1) e

(3) Ta1 TR BT

(45)

(2) 9T S
(4) 379 4 B¢ 7

(2)
(4)

Non transparent
All of these

o

g gt

(2)
(4)

(2)
(4)

Haulage work

Stationa ry work

(2)
(4)

U GoTg BTE B U
feae &1 & fae

(2)
(4)

Seed Sowing

Interculture

&S @t gard

(4) 3I=T O FEy
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adi
e
~d

Mt angie of dise plough is
T B & Y @TT @ S gl E:

(ir 10150 (2) 15-25° (3) 60-70° (4) 45-55°

i 1 a - = n e o |
1865, VWit diccovered the control of Khoira disease of rice )

rpy DO Y, L. Nen (2) Dr. America Singh
. : "y # . b ¥ I o L
L 2 K Uhakrabardy (4} 5. C. Dubey

1

cE o v w e o e [ e

-

: . gl ‘:-_'f ) r’h",
1515;3 \"F'S? ‘:F'I\. {-I e Ta;m s

-
*
o

17 Elo Mo @ GO (4 s wlo g™

100, \Wihuch of the following is family of mango
i1} § 2} Anacardiaceae
i1} Solanaceae (2) Ana Aces
: ! iy 1 i LT
{3 CaTricadceal 4] Rutaceac

4 |

ST S LI i r 2 | LA O

P AR (2} AN SUE

s (v e
o EE ()
200. Atrevingisalvpeol:
1 ' Al o 1
3 Vlant growith hormone (2) Weediade
3 : e - ‘, ’.\Tune (‘.if 1|1t’ﬁt‘
3 ipaeciciae (4)

RTE T HPR 3_{ '
e @l B (21 WIUART ARE
1) e gig rRmee -

. 17‘1-!—.”"':' {.'I'} L"ﬂ-:"i ‘\I m Hé}
[ DL

(46)
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